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Q1. A father said to his.son 'was as old as you are at th t the time of your birth". If
the father's age ig(38 years now) the son's age five vears back was? l’¢_
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Q2. Present ages of William and Alex are in the ratio of 5). 4 respectively. Three years hence,
the ratio of their ages will becomelql : 9 respectively. What is Alex's present age in years?
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Q3. A man is 24 years older than his son. In two years, his age will behe age of his son.
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The present age of his son is:
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Q4. The sum of the present ages of a father and his son is 60 years. Six years ago, father's age
a—

was five times the age of the son. After 6 years, son's age will be: "” b
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Blood Relations
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Read the following information carefully and then answer the questions (Q.No1 to 4) based

on it: I '

There is a family of six person {, S, Tand lﬂheir professions ar@neer, @ o
Doctor, Teacher, Salesman, Manager an P H 4‘— S ( D{)

1). There are two married couples in the family. @

’2). The Manager is the grandfather of U, who is an Engineer @ (ul

% R, the Salesman, is married to the lady Teacher a\

). Q is the mother of U and T. l /
|/§). The Doctor, S is married to the Manager. (&5’) @ TLW)

le. How many male members are there in the family?

Two $

A

B. Three

C. Datainadequate / ‘; ‘M (X)
D. Four

Q2. What is the profession of P? \/'

A. Lawyer

B. Lawyer or Teacher
. Manager

D. None of these

Q3. Who are the two married couples in the family?

A. PQandSR
Vv& PSandRQ
C. PTandSR

D. None of these

Q4. How P isrelated to T?

A. Father
WGrandfather
C. Mother

D. Grandmother
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Comparison based

Read the following statement carefully and answer the following questions.

A,@D,E,F,G,H are eight friends, three of them play cricket and table tennis each and two of ¢
them play football. Each one of them has a different height.
V1 The tallest does not play football and the shortest does not play cricket.
—
V2. Fis taller than A and D but shorter than H and B. -2 — 1

who does not play cricket, is taller than Bfand is second to the tallest. G is shorter than D
— —
but taller than A.

\AH, who is fourth from the top, plays table tennis with D.
F

"3 .
*l \A G does not play either cricket or football, B does not play football. CR - 3 @




Q1. Who is the tallest?

A. B
v c
C. H

D. Datainadequate

Q2. Who is the shortest?

A.G

B.D

LA

D. Data inadequate

Q3. Which of the following pairs of friends play football?

A. EF

A
C. HF

D. Data inadequate

Q4. What is F’s position from the top when they arranged in descending order of their height?

V(Fifth

B. Fourth
C. Sixth

D. Data inadequate



Q5. Which of the following group of friends play cricket?

A. CAE

2 ToF

C. CBA

D. Data Inadequate
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VQl‘Most corporation lawyers are conservativwiriam Graf is a corporation Iawyer)Therefore Miriam
Graf is probably a conservative. == & _9 T'M

A. False l‘“"}
\/(True

én
C. Both W

)

D. None
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Q2. All mammals have lungs. All whales are mammals. Therefore all whales have lungs.
]
[

A. Valid \/
B. Invalid
C. Both
D. None
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Q3. All four-legged creatures have wings. All spiders have exactly four legs. Therefore all spiders have

wings.
L4

A. Invalid *'“T *? ‘
./f Valid »ﬂ‘
C. Both
D. Uncertain
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Q4. If | owned all the gold in Fort Knox, then | would be wealthy. | do not own all the gold in Fort Knox.

Therefore | am not wealthy — Bl‘d Y\6 ’\qﬂ

A. Valid
. VB./InvaIid
C. Certain

D. Uncertain

Q5. If Bill Gates owned all the gold in Fort Knox, then Bill Gates would be wealthy. Bill Gates does not
e —] D

own all the gold in_Eort Knox. Therefore Bill Gates is not wealthy.

A. Valid
l/(. Invalid
C. Both
D. None
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V Q6. All fishes are mammals. All whales are fishes. Therefore all yvhales are mammals.

\/ Valid )

Invalid
C. Certain
D. Uncertain
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Q7. All mammals have wings. All whales have wings. Therefore all mammals are whales.
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